Unit 6: Quiz 6b
/5
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A 1.20 m diameter flywheel is rotating clockwise at 215 rpm.

a. What is the linear speed (in m/s) of a point on the rim of the flywheel?

b. What constant angular acceleration will cause the wheel to increase its speed to 915 rpm in 60.0 s?

c. Through what linear distance (in m’s) does the outer point of the wheel travel during the 60.0 s interval?
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c. Through what linear distance (in m’s) does the outer point of the wheel travel during the 60.0 s interval?
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; Δs = Δθr = (3.55x103 rads)(0.600m) = 2.13x103m
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v =ωr = (22.5 rad / s)(0.600m) = 13.5m / s
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Unit 6: Quiz 6b.

/5
21,20 m diameter lywheel s rotating lockwise at 215 rpm. -
a Whatis the lincar speed (i m/5)ofa pointon the rimofthe
fywheer? 4

b. What constantangular aceleration will ause the wheelto increase i
5pecd 0915 rpmin 60057

€ Through whatlinca distance (n ms) docs the oute point of the wheel
wavel during the 600 s nterval?



